
第 1/2 页 2002-4

型号 MT650

高速电钻

6.5mm (1/4")

1

2

3

4

5

6

7

11

10

12

9

20

22

14

16

13

21

15

8

18 1917



1
1
1
1
2
1
7

1

1

1
1
2
1
1
1
1
1
1
1
1
1

型号 MT650

第 2/2 页 2002-4

图号 零件编号 零件名称 数量 价格代码 备注
001 763170-3 钻夹头 6.5
002 153449-4 齿轮座组件
003 214043-8 平面轴承
004 210062-2 轴承 607ZZ
005 240058-9 风叶 44
006 517423-0 转子组件 220V 打刻 包含零件：4,5,7
007 210030-5 轴承 627ZZ
008 593538-7 定子组件 220V
009 232210-3 齿轮座
010 643563-9 碳刷握 5X8
011 191627-8 碳刷 CB－64
012 183511-1 电机机壳组件 包含零件：14,15
013 853825-9 铭牌 MT650 1
014 183511-1 电机机壳组件 包含零件：12,15
015 819126-5 牧科牌标签 1
016 265107-1 半圆头螺丝 M4X20
017 650209-0 开关 SGL206CDY
018 265099-4 半圆头螺丝 M4X14
019 687124-5 电源线压板
020 645185-1 电容
021 682569-2 电源线护套
022 694001-4 电源线 GB

763442-6 钻卡键 S6


